
CHEMISTRY

BOOKS - BODY BOOKS PUBLICATION

COORDINATION COMPOUNDS

Example

1. The primary valency of iron In

 is.

Watch Video Solution

K4[Fe(CN)6]

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_hPuIDSmpNB0m


2. Both geometrical and optical isomerisms

are exhibited by.

A. pentaaminechlorocobalt (III) Ion

B. tetraamlnedlchlorocobalt (III) Ion

C. Dlaaminedlchlorocobalt (III) Ion

D. dichlorobiscobalt (III) Ion

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_hPuIDSmpNB0m
https://dl.doubtnut.com/l/_ZBIE8DQWTnkH


3. What Is the colour of ?

Watch Video Solution

CoCI3.5NH3. H2O

4. How many chloride Ions are produced In the

aqueous solution by

tetraamminechloroplatinum (IV)chloride.?

A. 3

B. 2

C. 4

https://dl.doubtnut.com/l/_ZBIE8DQWTnkH
https://dl.doubtnut.com/l/_bd0VyI8Dkq1C
https://dl.doubtnut.com/l/_yHqZou2faHJh


D. 1

Answer:

Watch Video Solution

5. The charge on the central metal Ion In

 Is

A. 

B. 

C. 

[Ni(CO)4]

+1

+2

0

https://dl.doubtnut.com/l/_yHqZou2faHJh
https://dl.doubtnut.com/l/_kZU2Yfy6AH6Z


D. 

Answer:

Watch Video Solution

+4

6. Choose the correctly matched pair.

A.  : 

B.  : 

C.  : 

D. 

[Ni(CO)4] sp3

[Ni(CN)4]
2

− sp3

[COF5]3 −
d2sp

3

https://dl.doubtnut.com/l/_kZU2Yfy6AH6Z
https://dl.doubtnut.com/l/_IEYmGPCDfJiY


Answer:

Watch Video Solution

7. Which is an example of ambidendate ligand?

A. chloro

B. aquo

C. ammlne

D. thiocyanato

Answer:

https://dl.doubtnut.com/l/_IEYmGPCDfJiY
https://dl.doubtnut.com/l/_JeXEZizo3GB4


Watch Video Solution

8. What Is the colour of ?

A. violet

B. pink

C. red

D. green

Answer:

Watch Video Solution

CoCI3.5NH3. H2O

https://dl.doubtnut.com/l/_JeXEZizo3GB4
https://dl.doubtnut.com/l/_qf9noeYnhKfD


9. “ The cordination compound 

Cl exhibits IoNisation Isomerism:State whether

this statement is true or false?

Watch Video Solution

[Co(en)2Cl2]

10. In  central metal Ion is ………..

A. 

B. 

C. 

K4[Fe(CN)6]

Fe2 +

Fe3 +

CN −

https://dl.doubtnut.com/l/_qf9noeYnhKfD
https://dl.doubtnut.com/l/_KICo49uJLf2V
https://dl.doubtnut.com/l/_AHgzpDRIcZQp


D. 

Answer:

Watch Video Solution

CN 2 −

11. Which one of the following complexes is

not dlamagnet?

A. 

B. 

C. 

[Fe((N)6]
4 −

[Ti(H2O6)]3 +

[Pt(CN)4]
2 −

https://dl.doubtnut.com/l/_AHgzpDRIcZQp
https://dl.doubtnut.com/l/_4uGEVKFR3UjY


D. 

Answer:

Watch Video Solution

[CO(NH3)6]
3 +

12. The charge on the central metal Ion In

 Is

Watch Video Solution

[Ni(CO)4]

https://dl.doubtnut.com/l/_4uGEVKFR3UjY
https://dl.doubtnut.com/l/_DCkMszXE0R7n


13. Both geometrical and optical isomerisms

are exhibited by.

A. dichlorobls (ethylenadiammlne) cobalt

(III) Ion

B. pentaammlnechloro cobalt (III) Ion

C. triammlnotrichloro cobalt (III)

D. tetraammlne dlchloro cobalt (ill) Ion

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_MdZkdUAuPgFt


14.  Is an _____________ ligand.

Watch Video Solution

NO−
2

15. If solvent Insolvate Isomerism Is water, it is

called____________.

Watch Video Solution

https://dl.doubtnut.com/l/_MdZkdUAuPgFt
https://dl.doubtnut.com/l/_GKuRPYSPsAdc
https://dl.doubtnut.com/l/_DEEQL2sEkC4l


16. ___________ is an inorganic metal complex In

which there Is a close ring of atoms caused by

attachment of a ligand to a metal atom at two

points.

Watch Video Solution

17. A metal Ion and the ligands Immediately

attached to it Is called ___________ entity.

Watch Video Solution

https://dl.doubtnut.com/l/_Fqs8fE6L4opn
https://dl.doubtnut.com/l/_HCx2h29rEwPR
https://dl.doubtnut.com/l/_k8cwc1uj6sno


18. When two salts In equimolar ratio are

crystalised together from their saturated

solution they are called __________.

Watch Video Solution

19. Observe the relationship between the first

two terms and fill in the blanks.

 Didentate

ligands : ___________.

Watch Video Solution

UNidentateLig and s :NH3

https://dl.doubtnut.com/l/_k8cwc1uj6sno
https://dl.doubtnut.com/l/_M5xELUIzPvdn


20. Name the optical isomers are those which

are not superimposable on their mirror

images.

Watch Video Solution

21. A coordination compound has the formula

. It does not liberate AmmoNia

but precipitates chloride Ions as silver

chloride. Give the IUPAC name of complex.

Watch Video Solution

COCI3.4NH3

https://dl.doubtnut.com/l/_s8GhSIWYPxte
https://dl.doubtnut.com/l/_CYMkh0hTzWDB


22. Give the IUPAC names of the following

compounds:- 

Watch Video Solution

[Pt(NH3)2Cl
2]

23. Give the IUPAC names of the following

compounds:- .

Watch Video Solution

K4[Fe(CN)6]

https://dl.doubtnut.com/l/_CYMkh0hTzWDB
https://dl.doubtnut.com/l/_bsJK8nE2GLWR
https://dl.doubtnut.com/l/_wPZeAWc6FENk


24. Stereo Isomerism Is observed in the

complex,  Give the structures

of ail possible stereoisomers.

Watch Video Solution

[Cr(en)2Cl2]
+

25. The following are two coordination

compound: I.  II. 

 Read the following

statements and identify the wrong ones:- The

IUPAC names of both end in ‘ate’.

[Co(NH3)6]CI3

Na3[Cr(CN)6]

https://dl.doubtnut.com/l/_pPVc1DbRUcig
https://dl.doubtnut.com/l/_MoO3xIql062K


Watch Video Solution

26. The following are two coordination

compound: I.  II. 

 Read the following

statements and identify the wrong ones:-

Secondary valency of both Is equal to 3.

Watch Video Solution

[Co(NH3)6]CI3

Na3[Cr(CN)6]

27. The following are two coordination

compound: I.  II. [Co(NH3)6]CI3

https://dl.doubtnut.com/l/_MoO3xIql062K
https://dl.doubtnut.com/l/_DZp6dLw1Y29w
https://dl.doubtnut.com/l/_1FltCOwZxRnZ


 Read the following

statements and identify the wrong ones:- Both

can show optical Isomerism.

Watch Video Solution

Na3[Cr(CN)6]

28. The following are two coordination

compound: I.  II. 

 Read the following

statements and identify the wrong ones:-

Oxidation no. of central metal In both is +3.

Watch Video Solution

[Co(NH3)6]CI3

Na3[Cr(CN)6]

https://dl.doubtnut.com/l/_1FltCOwZxRnZ
https://dl.doubtnut.com/l/_l73LMdKmIzhj


29. The coordination compound . 

dissolves in water to give two chloride Ions

per uNit formula. Designate the coordination

entity In the coordnation compound.

Watch Video Solution

CoCl3 5NH3

30. Cisplatin Is used for the treatment of

cancer. What is Cisplatin?

Watch Video Solution

https://dl.doubtnut.com/l/_l73LMdKmIzhj
https://dl.doubtnut.com/l/_DIAgzV830w33
https://dl.doubtnut.com/l/_rHKrnx4kpR00


31. Give the IUPAC names and Draw the

structures of the following:- .

Watch Video Solution

Ni(CO)4

32. Give the IUPAC names and Draw the

structures of the following:- 

Watch Video Solution

Fe(CO)6

https://dl.doubtnut.com/l/_CtNFa2d6TOdC
https://dl.doubtnut.com/l/_0PaJgfHbg1f2


33. Draw the figure to show the splitting of d-

orbitals in an octahedral crystal field.

Watch Video Solution

34. Construct two complex ions using Fe as

the central metal ion and CN as the ligands,

such that one Is paramagnetic and the other

Is diamagnetic. Give their IUPAC name.

Watch Video Solution

https://dl.doubtnut.com/l/_sxeuPmXUkJtM
https://dl.doubtnut.com/l/_syK1g7czXwIm
https://dl.doubtnut.com/l/_eK6vlgt4COiR


35. Consider the coordination compound

 what is the primary

valence and secondary valence of the central

metal ion in the above co ordination

compound.

Watch Video Solution

[Co(NH3)5Cl]Cl2

36. IUPAC name of the co-ordination

compound  is

pentamminechlorido cobalt (III) choloride:-

[CO(NH3)5CI]CI2

https://dl.doubtnut.com/l/_eK6vlgt4COiR
https://dl.doubtnut.com/l/_yjPvjgHvkHXE


Write the name of isomerism exhibited by the

complex .

Watch Video Solution

[Pt(NH3)2(Cl4]

37. With the help of valence bond theory

answer the following questions related to the

complexes.

:- Which among these form outer orbital

complex ?

Watch Video Solution

[Fe(CN)6]
4 −

, [Fe(CN)6]
3 −

and [CoF6p]3 −

https://dl.doubtnut.com/l/_yjPvjgHvkHXE
https://dl.doubtnut.com/l/_nX3y07K8WLYt


38. With the help of valence bond theory

answer the following questions related to the

complexes.

:- Predict the magnetic properties.

Watch Video Solution

[Fe(CN)6]
4 −

, [Fe(CN)6]
3 −

and [CoF6p]3 −

39. With the help of valence bond theory

answer the following questions related to the

complexes.

https://dl.doubtnut.com/l/_nX3y07K8WLYt
https://dl.doubtnut.com/l/_z8cVb2JLnHjD
https://dl.doubtnut.com/l/_YMEu9m7Ot6Pp


:- Predict the hybridisation state of central

metal Ions.

Watch Video Solution

[Fe(CN)6]
4 −

, [Fe(CN)6]
3 −

and [CoF6p]3 −

40. Listen the following conversation. Student

A:  Is diamagnetic since it

undergoes  hybridisation. Student B: 

 is also diamagnetic
 as it also

undergoes  hybridisation. Do you agree

[Ni(CO)4]

sp3

[Ni(Cl)4]
2 −

sp3

https://dl.doubtnut.com/l/_YMEu9m7Ot6Pp
https://dl.doubtnut.com/l/_YVxfAG7xDqI2


with the above conversation? Justify your

answer.

Watch Video Solution

41. Give the IUPAC name of the coordination

compound. 

Watch Video Solution

[Cr(NH3)3(H2O)3]Cl3

42. Identify the type of isomerism exhibited by

.Draw the possible isomeric[Co(NH3)4CI2]
+

https://dl.doubtnut.com/l/_YVxfAG7xDqI2
https://dl.doubtnut.com/l/_KAhdTT6eCB0y
https://dl.doubtnut.com/l/_NMaJKWy3qhK4


structure.

Watch Video Solution

43. some chemical species are given below.

By using the above species, form a cationic

coordination complex.

Watch Video Solution

NH3, K + , Co, Co3 + , H2O, CI, CO, SO2 −
4

https://dl.doubtnut.com/l/_NMaJKWy3qhK4
https://dl.doubtnut.com/l/_dZmGDWw3IjDe


44. some chemical species are given below.

By using the above species, form:- An aNioNic

complex.

Watch Video Solution

NH3, K + , Co, Co3 + , H2O, CI, CO, SO2 −
4

45. some chemical species are given below.

By using the above species, form:- A neutral

complex.

NH3, K + , Co, Co3 + , H2O, CI, CO, SO2 −
4

https://dl.doubtnut.com/l/_JZJFVkT9ZDKI
https://dl.doubtnut.com/l/_PnsI99felP2n


Watch Video Solution

46. A list of coordination compounds are given

below.
 'PtCl_2(NH_3)_2',
 Which type of

isomerism, do these compòunds exhibit?

Watch Video Solution

47. A and B are two Isomeric coordination

compounds with molecular formula

. A gives 2 moles of AgCI and BCoCI3. 6H2O

https://dl.doubtnut.com/l/_PnsI99felP2n
https://dl.doubtnut.com/l/_LPGUlPGddI8p
https://dl.doubtnut.com/l/_Ta8QBHXvZA2i


gives 3 moles of AgCI with  solution:-

Write the structural formula of A and B.

Watch Video Solution

AgNO3

48. A and B are two Isomeric coordination

compounds with molecular formula

. A gives 2 moles of AgCI and B

gives 3 moles of AgCI with  solution:-

Give the lUPAC names of A and B.

Watch Video Solution

CoCI3. 6H2O

AgNO3

https://dl.doubtnut.com/l/_Ta8QBHXvZA2i
https://dl.doubtnut.com/l/_W4hylTTnu4yR
https://dl.doubtnut.com/l/_M8DhDmZZicyI


49. A and B are two Isomeric coordination

compounds with molecular formula

. A gives 2 moles of AgCI and B

gives 3 moles of AgCI with  solution:-

What type of isomers are A and B ?

Watch Video Solution

CoCI3. 6H2O

AgNO3

50. Tetrahedral complexés, do' nọt show

geometrical isomerism. Why?

Watch Video Solution

https://dl.doubtnut.com/l/_M8DhDmZZicyI
https://dl.doubtnut.com/l/_NUobS8H82K1k


51. Write the IUPAC name of the complex

 .Draw the figure to show the

splitting of 'd' orbitals in octahedral crystal

field.

Watch Video Solution

K3(Cr(C2O4)3]

52. Draw the figure to show the splitting of d-

orbitals in an octahedral crystal field.

Watch Video Solution

https://dl.doubtnut.com/l/_GafcNV0wxhQh
https://dl.doubtnut.com/l/_JET18eLdfJ7m
https://dl.doubtnut.com/l/_iYbAEUmspNsD


53.  is strongly paramagnetic

whereas  is weakly

paramagnetic Expain?

Watch Video Solution

[Fe(H2O)6]
3 +

{Fe(CN)6]
3 −

54. Illustrate with examples the following

terms:-Ambidentate ligand.

Watch Video Solution

https://dl.doubtnut.com/l/_iYbAEUmspNsD
https://dl.doubtnut.com/l/_YL5ZwsL4s6ar


55. Illustrate with examples the following

terms:- Chelate ligand.

Watch Video Solution

56. A list of coordination compounds are

given: I.  II.  III. 

:- Designate the coordination

entities and counter ions in the compounds.

Watch Video Solution

K4[Fe(CN)6] K2[Pt(CN)6]

[Ni(CO)4]

https://dl.doubtnut.com/l/_TbkkIbi7KYuz
https://dl.doubtnut.com/l/_3ZWPjERB2vXl
https://dl.doubtnut.com/l/_0FzHSr6dzIzN


57. A list of coordination compounds are

given: I.  II.  III. 

:- Give the oxidation number and

coordination number of central metal atom in

each compound.

Watch Video Solution

K4[Fe(CN)6] K2[Pt(CN)6]

[Ni(CO)4]

58. Werner’s coordination theory is usefulfor

explaiNing the formation of coordination

compound. Give the main postulates of

Werner’s theory.

https://dl.doubtnut.com/l/_0FzHSr6dzIzN
https://dl.doubtnut.com/l/_FcUlddgA1q9W


Watch Video Solution

59. Illustrate the following with examples:-

Homoleptic and heteroieptic complexes.

Watch Video Solution

60. Illustrate the following with examples:-

Double salt and coordination compound.

Watch Video Solution

https://dl.doubtnut.com/l/_FcUlddgA1q9W
https://dl.doubtnut.com/l/_ijpwOSvsiiVe
https://dl.doubtnut.com/l/_Q2SZBAQ5vcoM
https://dl.doubtnut.com/l/_TphaReKy5JI8


61. Suggest the shape of the complexes

 and 

Watch Video Solution

Ni(CO)4 [CoF6]3 −

62. The central ion  with coordination

number 6 is bonded to the ligands  and

 to form a dipositive complex ion.Write the

formula or IUPAC name of the complex.

Watch Video Solution

Co+ 3

NH3

Br

https://dl.doubtnut.com/l/_TphaReKy5JI8
https://dl.doubtnut.com/l/_kRM9zVcSCm98
https://dl.doubtnut.com/l/_1rY9NHs4aOFk


63. Using VBT explain the diamagnetism and

square planar shape of .

Watch Video Solution

[Ni(CO)4]
2 −

64. The central ion  with coordination

number 2 form a positive complex ion with

 ligand.Also  forms a negative

complex ion with  ligand.Write the

formula of above positive and negative

complex ions Give the IUPAC name of each

Watch Video Solution

Ag+

NH3 Ag+

CN −

https://dl.doubtnut.com/l/_1rY9NHs4aOFk
https://dl.doubtnut.com/l/_9O39mfcByeV0


65. The central ion  with coordination

number 2 form a positive complex ion with

 ligand.Also  forms a negative

complex ion with  ligand. Give the

denticity of  and  ligands.

Watch Video Solution

Ag+

NH3 Ag+

CN −

NH3 CN −

66. The central ion  with coordination

number 2 forms a positive complex Ion with

 ligand. Also  foms a negative

Ag+

NH3 Ag +

https://dl.doubtnut.com/l/_9O39mfcByeV0
https://dl.doubtnut.com/l/_7o27zQnZTSCQ
https://dl.doubtnut.com/l/_xnaUm0kj6MCV


complex with CN ligand:- Give the denticity of

 and  ligands:- Write the formula

and name of a hexadentate ligand.

Watch Video Solution

NH3 CN −

67. When  is mixed with excess of ,

a deep blue coloured solution is

obtained.Write the formula of the compound

formed.

Watch Video Solution

CuSO4 NH3

https://dl.doubtnut.com/l/_xnaUm0kj6MCV
https://dl.doubtnut.com/l/_kzWGgI1tGHgn
https://dl.doubtnut.com/l/_LXvPKl1zAWxl


68. When  is mixed with excess of 

, a deep blue coloured solution is

obtained.What do you understand by the term

coordination number

Watch Video Solution

CuSO4 NH3

69. Write down the ionisation isomer of

Watch Video Solution

[Co(NH3)5Cl]SO4

https://dl.doubtnut.com/l/_LXvPKl1zAWxl
https://dl.doubtnut.com/l/_7Lx26GfZ3SZf
https://dl.doubtnut.com/l/_teIEjNrCNdnt


70.  is paramagnetic while 

 is diamagnetic though both are

tetrahedral.Why?

Watch Video Solution

[NiCl4]2 −

Ni(CO)4

71. Many theories have been put forth to

explain the nature of bonding in co-ordination

compounds:- On the basis of valence bond

theory account for the diamagnetic behaviour

of .

Watch Video Solution

[Ni(CN)4]
2 −

https://dl.doubtnut.com/l/_teIEjNrCNdnt
https://dl.doubtnut.com/l/_tr8u1VyPAxd3


72. Many theories have been put forth to

explain the nature of bonding in co-ordination

compounds:- What is the geometry of the [
N
i

(
C
N
)
4
]
2
−
.
complex?

Watch Video Solution

73. How many geometrical isomers are

possible in the following coordination entities.

i) 


ii) 

[Cr(C2O4)3]
3 −

[Co(NH3)3Cl3]

https://dl.doubtnut.com/l/_tr8u1VyPAxd3
https://dl.doubtnut.com/l/_OuxM0Z1I2wNB
https://dl.doubtnut.com/l/_Smt7lMvH9R61


Watch Video Solution

74. How many geometrical isomers are

possible in the following coordination entities.

i) 


ii) 

Watch Video Solution

[Cr(C2O4)3]
3 −

[Co(NH3)3Cl3]

75. Discuss the nature of bonding in metal

carbonyIs.

https://dl.doubtnut.com/l/_Smt7lMvH9R61
https://dl.doubtnut.com/l/_KOODTxeVnP8u
https://dl.doubtnut.com/l/_WOwgEiHFIHOL


Watch Video Solution

76. How many ions are produced from the

complex  in solution?

Watch Video Solution

[Co(NH3)6]Cl2

77. Discuss briefly giving an example in each

case the role of coordination compounds in:
i)

biological systems
 ii) analytical chiemistry
 iii)

medicinàl chemistry iv) extraction metallurgy

of metals

https://dl.doubtnut.com/l/_WOwgEiHFIHOL
https://dl.doubtnut.com/l/_8IwesIhdKCVX
https://dl.doubtnut.com/l/_0iPgNBz21UTc


Watch Video Solution

78. Discuss briefly giving an example in each

case the role of coordination compounds in:
i)

biological systems
 ii) analytical chiemistry
 iii)

medicinàl chemistry iv) extraction metallurgy

of metals

Watch Video Solution

https://dl.doubtnut.com/l/_0iPgNBz21UTc
https://dl.doubtnut.com/l/_zXE4acA3rrE9


79. Discuss briefly with an example in each case

the role of coordination compounds:-

Analytical chemistry.

Watch Video Solution

80. Discuss briefly with an example in each

case the role of coordination compounds:-

Extraction of metals.

Watch Video Solution

https://dl.doubtnut.com/l/_9453s9vFt1Zg
https://dl.doubtnut.com/l/_DQMX4UaMfJMG
https://dl.doubtnut.com/l/_dgb9wv2LjcRg


81. Aqueous copper sulphate solution(blue In

colour) gives:- a green precipitate with

aqueous potassium fluoride and

Watch Video Solution

82. Aqueous copper sulphate solution(blue In

colour) gives:- a bright green solution with

aqueous potassium chloride. Explain these

experimental results.

Watch Video Solution

https://dl.doubtnut.com/l/_dgb9wv2LjcRg
https://dl.doubtnut.com/l/_SvOCNRIF4aRx


83. What is spectro chemical series ? Explain

the difference betweena weak field ligand and

a strong field ligand.

Watch Video Solution

84. A solution of  is green but

a solution of  is colourless.

Explain.

Watch Video Solution

[Ni(H2O)6]
2 +

[Ni(CN)4]
2 −

https://dl.doubtnut.com/l/_fzWLnGbJUvc9
https://dl.doubtnut.com/l/_Nli37hnI6pKV
https://dl.doubtnut.com/l/_EJ4uzr7Hbb1N


85. Amongst the following which one.has the

highest magnetic moment value?
 1)

(Cr(H2O)6)^3+
 2) (Fe(H20)6)^2+
 3)

(Zn(H2O))^2+

Watch Video Solution

86. Amongst the following which one.has the

highest magnetic moment value?
 1)

(Cr(H2O)6)^3+
 2) (Fe(H20)6)^2+
 3)

(Zn(H2O))^2+

Watch Video Solution

https://dl.doubtnut.com/l/_EJ4uzr7Hbb1N
https://dl.doubtnut.com/l/_bf35Vrn57zqx


87. Amongst the following which one.has the

highest magnetic moment value?
 1)

(Cr(H2O)6)^3+
 2) (Fe(H20)6)^2+
 3)

(Zn(H2O))^2+

Watch Video Solution

88. What will be the correct order for the

wavelengths of absorption in the visible

https://dl.doubtnut.com/l/_bf35Vrn57zqx
https://dl.doubtnut.com/l/_qAPG3sJvIFRf
https://dl.doubtnut.com/l/_SaeHCTg9jV0i


region for the following:
 '[Ni(NO₂)₆ ]⁴⁻ ,[N

i(NH₃)₆]²⁺,[Ni(H₂O)]^2+

Watch Video Solution

89. Assign the primary valence and secondary

valence of the central metal in .

Watch Video Solution

[Ni(CO)4]

90. Cis isomer of  Is used to

inhibit the growth of tumours:-Give the IUPAC

[Pt(NH3)2Cl2]

https://dl.doubtnut.com/l/_SaeHCTg9jV0i
https://dl.doubtnut.com/l/_foDCEhyqm2hS
https://dl.doubtnut.com/l/_BAQwzhmtRzgA


name of 

Watch Video Solution

[Pt(NH3)2Cl2]

91. Cis isomer of  is used to

inhibit the growth of tumours.Give the

structure of cis and trans isomers of

Watch Video Solution

[Pt(NH3)2CI2]

[Pt(NH3)2CI2]

https://dl.doubtnut.com/l/_BAQwzhmtRzgA
https://dl.doubtnut.com/l/_UeSStNUmBILn


92. Identify the co-ordination compound which

can exhibit linkage isomerism, among the

following.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

[Pt(NH3)2CI2]

[CO(NH3)5(S04)]Br

[CO(NH3)6(NO2)]CI2

[Cr(NH3)5][COF6]

https://dl.doubtnut.com/l/_1ZCcBLNHgBXC


93. With the help of a diagram, give the

splitting of d-orbitals of  Ion in an

octahedral crystal field.

Watch Video Solution

Mn2 +

94. On the basis of crystal field theory, explain

why  contains five unpaired

electrons while  contains oNiy

one unpaired electron.

Watch Video Solution

[Mn(H2O)6]
2 +

[Mn(CN)6)
4 −

https://dl.doubtnut.com/l/_kLQkAw0FWNUy
https://dl.doubtnut.com/l/_f99lgailGpYG


95. Explain how the complexes of Nickel.

[Ni ] have different

structure, but do not differ In their magnetic

behaviour. (Ni, Atomic No : 28).

Watch Video Solution

[Ni(CN)4]
2 −

and (CO)4

96. Draw the structure of geometrical Isomers

of :-

Watch Video Solution

[Fe(NH3)2(CN)4]
+

https://dl.doubtnut.com/l/_f99lgailGpYG
https://dl.doubtnut.com/l/_trXOKIvhcEnF
https://dl.doubtnut.com/l/_d6RlSHpmOac0


97. Write the formula of pentaammine

carbonatocobalt (III) chloride.

Watch Video Solution

98. Write any two limitations of valance bond

theory.

Watch Video Solution

https://dl.doubtnut.com/l/_5sI2UKKLja6E
https://dl.doubtnut.com/l/_PlaOsbm9UeEL


99.  and

 are co-ordination

compounds:- Identify the isomerism shown by

the above compounds.

Watch Video Solution

[Co(NH3)5SO4]CI

[Co(NH3)5CI]SO4

100.  and 

 are coordination

compounds.Write the IUPAC names of the

above compounds.

[Co(NH3)5SO4]Cl

[Co(NH3)5Cl]SO4

https://dl.doubtnut.com/l/_4Mz6BmN4f7Np
https://dl.doubtnut.com/l/_VFQovo8MOiTu


Watch Video Solution

101.  and 

 are coordination

compounds.Identify the ligands in each of the

above compounds.

Watch Video Solution

[Co(NH3)5SO4]Cl

[Co(NH3)5Cl]SO4

102. Write down the ionisation isomer of

Watch Video Solution

[Co(NH3)5Cl]SO4

https://dl.doubtnut.com/l/_VFQovo8MOiTu
https://dl.doubtnut.com/l/_Vcy0WdsYXwVd
https://dl.doubtnut.com/l/_Db8x7E4NZe5o


103.  is paramagnetic while 

 is diamagnetic though both are

tetrahedral.Why?

Watch Video Solution

[NiCl4]2 −

Ni(CO)4

104. Coordination compounds contains central

metal ion and ligands:- Primary valency of

central metal in  is.

A. 3

[Co(NH3)6]CI3

https://dl.doubtnut.com/l/_Db8x7E4NZe5o
https://dl.doubtnut.com/l/_zzD2ziWFsFzG
https://dl.doubtnut.com/l/_8dok9KqaN85Y


B. 6

C. 4

D. 9

Answer:

Watch Video Solution

105. Coordination compounds contains central

metal and ligands:- What are the postulates of

Werner’s theory?

Watch Video Solution

https://dl.doubtnut.com/l/_8dok9KqaN85Y
https://dl.doubtnut.com/l/_KLOIeYL0s3Lc


106. Coordination compounds contains central

metal ions and ligands:- Write the IUPAC

names of .

Watch Video Solution

K3[Fe(CN)6], [Co(NH3)6]CI3

107.  is an octahedral

coordination compound Write the IUPAC name

of the compound

Watch Video Solution

[Co(NH3)5SO4]Cl

https://dl.doubtnut.com/l/_KLOIeYL0s3Lc
https://dl.doubtnut.com/l/_IVtCAOAxm7dq
https://dl.doubtnut.com/l/_AOgiuMXs6VAj


108.  is an octahedral

coordination compound write the formula of

the ionisation isomer of the above compound

Watch Video Solution

[Co(NH3)5SO4]Cl

109. Draw the figure to show the splitting of d-

orbitals in an octahedral crystal field.

Watch Video Solution

https://dl.doubtnut.com/l/_AOgiuMXs6VAj
https://dl.doubtnut.com/l/_mzmchUlQ1vy3
https://dl.doubtnut.com/l/_bi1v7Qr0DcWA
https://dl.doubtnut.com/l/_GwjpC5CemPAs


110. Draw the diagram which indicate through

splitting of d orbits in tetrahedral field.

Watch Video Solution

111. Write the Werner’s formula for the

following coordination compounds:-

Tetraamminediaqua cobalt (III) chloride.

Watch Video Solution

https://dl.doubtnut.com/l/_GwjpC5CemPAs
https://dl.doubtnut.com/l/_0uktfkbICEhX


112. Write the formula of the following

coordination compound Tris(ethane-1,2-

diamine)chromium(III)chloride

Watch Video Solution

113. How many ions are produced from the

complex  in solution?

Watch Video Solution

[Co(NH3)6]Cl2

https://dl.doubtnut.com/l/_Gozo7UDtTxi2
https://dl.doubtnut.com/l/_6PleOqoiNMek


114. The primary valency of iron In

 is.

A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

K4[Fe(CN)6]

https://dl.doubtnut.com/l/_3V9lqqi1abcJ
https://dl.doubtnut.com/l/_jRp7l0G5URCQ


115. What is spectrochemlcal series? Give one

example each for strong field and weak field

ligand.

Watch Video Solution

116. The magnetic behaviour of a complex can

be expained on the basis of VB theory

 is a diamagnetic complex

and  is a paramagnetic

complex.Substantiate the above statement

using VB theory.

[CO(NH3)6)]
3 +

[CoF6]3 −

https://dl.doubtnut.com/l/_jRp7l0G5URCQ
https://dl.doubtnut.com/l/_tVIyAOY13Qz1


Watch Video Solution

117. Consider the coordination compound

.Write the IUPAC name of

the above coordination compound.

Watch Video Solution

[Co(NH3)5SO4]Br

118. Consider the coordination compound

.What is the primary

valance and secondary valance of the central

[Co(NH3)5SO4]Br

https://dl.doubtnut.com/l/_tVIyAOY13Qz1
https://dl.doubtnut.com/l/_LIlA1YjVcepv
https://dl.doubtnut.com/l/_9yhVJmGwOMBt


metal cobalt in the above coordination

compound?

Watch Video Solution

119. Consider the coordination compound

.Which type of structural

isomerisms is exhibited by the above

coordination compound?

Watch Video Solution

[Co(NH3)5SO4]Br

https://dl.doubtnut.com/l/_9yhVJmGwOMBt
https://dl.doubtnut.com/l/_f3kwsGH5f0I9


120. Consider the coordination compound

.Name the central metal

ion of the above compound.

Watch Video Solution

[Cr(NH3)5CO3]Cl

121.  is a coordination

compound:- What is Its IUPAC name?

Watch Video Solution

[Cr(NH3)5Co3]CI

https://dl.doubtnut.com/l/_h7BarL9sz3B5
https://dl.doubtnut.com/l/_XCOrl4oeioNW


122.  is a coordination

compound:- Are the ligands present in the

above compound ambidentate ligands? Why?

Watch Video Solution

[Cr(NH3)5Co3]CI

123.  is a coordination

compound:- Write the ioNisation isomer of the

above mentioned coordination compound.

Watch Video Solution

[Cr(NH3)5CO3]CI

https://dl.doubtnut.com/l/_yu9QCaLqkBzN
https://dl.doubtnut.com/l/_uscG4YCD0ynH
https://dl.doubtnut.com/l/_s8PwCnrXstJ3


124. The octahedral complex 

is diamagnetic while the octahedral complex

 is paramagnetic. Explain using VB

theory.

Watch Video Solution

[Co(NH3)6]
3 +

[CoF6]3 −

125. Name the central metal ion present in

haemoglobin.

Watch Video Solution

https://dl.doubtnut.com/l/_s8PwCnrXstJ3
https://dl.doubtnut.com/l/_c7Hi2TzBWtXM
https://dl.doubtnut.com/l/_U8AJ6ytvkq3I


126. Which type pf isomerism is shown by

 and 

?

Watch Video Solution

[Co(NH3)5ONO]
2 −

[CO(NH3)5NO2]
2

+

127. Why is CO a stronger ligand than Cl ?

Watch Video Solution

128. Name the metal present in:- Chlorophyll.

Watch Video Solution

https://dl.doubtnut.com/l/_U8AJ6ytvkq3I
https://dl.doubtnut.com/l/_y3LoJy0GoZg7
https://dl.doubtnut.com/l/_9hlRZIDLPWhO


129. Name the metal present in:- Vitamine .

Watch Video Solution

B12

130. What is a ligand? Give an example of a

bidentate ligand.

Watch Video Solution

https://dl.doubtnut.com/l/_9hlRZIDLPWhO
https://dl.doubtnut.com/l/_9gxzh5HtUTNn
https://dl.doubtnut.com/l/_X1s9FsuXe0uR


131. Consider the coordination compound

.Name the central metal

ion of the above compound.

Watch Video Solution

[Cr(NH3)5CO3]Cl

132. Consider the coordination compound

.Write the IUPAC name of

the above coordination compound.

Watch Video Solution

[Cr(NH3)5CO3]Cl

https://dl.doubtnut.com/l/_TY0EvwjWrgMO
https://dl.doubtnut.com/l/_SWpTx8mgKPOQ
https://dl.doubtnut.com/l/_FspthXN67aTt


133.  is a coordination

compound:- Name the ligand present in the

above compound.

Watch Video Solution

[Cr(NH3)5CO3]CI

134. Lanthanoid contraction is a term often

associated with the chemistry of transition

and inner transition element. Explain the term

Lanthanoid constractions. How does it affect

the chemistry of Lanthanoid and that of Zr, Hf

element.

https://dl.doubtnut.com/l/_FspthXN67aTt
https://dl.doubtnut.com/l/_1IgJy6rfwmRq


Watch Video Solution

https://dl.doubtnut.com/l/_1IgJy6rfwmRq

